
WTS Cost TopHat Example 
Consider a prototype system with the following characteristics:  

1. coagulant dosage of 25 mg/L
2. flowrate 1,000 mL/min
3. run time of 60 minutes
4. 2 inches of anthracite and 4 inches of filter sand
5. replace filter material once every five years
6. 4 prototype sedimentation tanks

Compute the total yearly cost of this system 

Coagulant and Flocculation Cost 

  6
3.785

10c
liters kgkg

rw mgcoagulaat g l gallon mg
nt dosage lite

            

 
65 10 ( )

required daily volume gpd
NCF SF

gpd
 

   

 $25,000 365 $1required daily volume gpdCF c
kg daysCost NCF wt

year gal year kg
      

         
      

 



Sedimentation Cost  
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Filter Cost 
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Filter Media Cost 
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